
MODEL QUESTIONS

Directions (Q.No.1-5): Study the
following information to answer the
given questions.

Representatives from eight
different country's viz Aditya, Vih-
aan, Arjun, Muhammad, Sai, Krish,
Aryan and Shaurya are sitting around
a circular table facing the centre but
not necessarily in the same order.
Each one of them is from a different
country viz. Russia, United States,
Japan, Italy, Canada, France, Germ-
any and United Kingdom.

Krish sits second to right of the
representative from Italy. Represen-
tative from Germany is an immediate
neighbour of the representative from
Italy. Two people sit between the
representative of Germany and
Vihaan. Arjun and Sai are immediate
neighbour of each other. Neither
Arjun nor Sai is an immediate
neighbour of either Vihaan or the
representative from Italy. Represen-
tative from Japan sits second to right
of Muhammad. Muhammad is
neither the representative of Italy nor
Germany. Aryan and the represen-
tative from Russia are immediate
neighbours of each other. Vihaan is
not the representative of Russia.
Only one person sits between Arjun
and the representative from United
States. Shaurya sits third to left of the
representative from United King-
dom. Representative from France sits
second to left of the representative
from Canada.
1. Four of the following five are

alike in a certain way based on
the given arrangement and thus
form a group. Which is the one

that does not belong to that
group?
a) Shaurya-Russia
b) Aditya- Italy
c) Muhammad- Japan
d) Sai- Canada
e) Krish-France

2. Which of the following is true
with respect to the given seating
arrangement?
a) Vihaan is the representative

from Japan
b) Arjun sits second to right of

Shaurya
c) The representative from

United Kingdom sits to the
Immediate left of the
representative from Russia.

d) Aditya sits second to right of
the representative from
Germany.

e) The representative from Japan
and Canada are immediate
neighbours of each other.

3. Who amongst the following sit
exactly between Vihaan and the
representative from Germany
(from left of Germany)?
a) Aditya and the representative

from Russia
b) Krish and Aryan
c) Shaurya and the representative

from Japan
d) Shaurya and Aryan
e) Representatives from Canada

and United States
4. Who amongst the following is

the representative from United
States?
a) Aditya b) Arjun
c) Shaurya d) Aryan
e) Muhammad

5. Who amongst the following sits
second to left of Vihaan?
a) Arjun b) Shaurya
c) The representative from Italy
d) The representative from

France
e) Aryan

Directions (Q.No.6-7): Study the
following information to answer the
given questions.

In certain code:
'Good to we' is written as 'no ba ot',
'Take we money' is written as 've ka

no',
'For wild good' is written as 'ba di la'

and
'Money for you' is written as 'se ve di'
6. What is the code for 'wild'?

a) Ba b) Di c) La 
d) Yo e) Cannot be determined

7. Which of the following may
represent 'money good most'?
a) Ve ba o b) Ve se ba 
c) Ba zi di d) Ba ka zi 
e) Ba fe ve

Directions (Q.No.8-10): Study
the following information to answer
the given questions.

M H < 9 M 6 # A 3 7 & @ U * 8
B ^ % 5 4 S D

8. How many numbers are present
in the above series which are im-
mediately followed by a symbol
and preceded by an alphabet?
a) None b) One
c) Two d) Three
e) More than three

9. Which element is exactly
between the elements which are
7th from the left and 6th from the
right end?
a) 7 b) & c) @
d) U e) None of these

10. How many symbols are present
in the above series which are im-
mediately followed by a vowel
and preceded by a number?
a) Three b) One
c) Two d) None 
e) More than three

Directions (Q.No.11-15): Study
the following information and
answer the questions that follow:

Fourteen employees A, B, C, D,
E, F, G, M, N, O, P, Q, R and S who
attends the training on different
subjects i.e. Quality Training, Skills
Training, Soft Skills Training, Team
Training, Managerial Training,
Safety Training and Public relation
Training but not necessarily in the
same order. They all attend the
training on different days of the same
week starting from Monday. Training
for each subject are attended by only
two employees and trainings for each
subject are held on same day.A
attended the training on Soft Skills
Training. Employee R and F attended
their training on Wednesday. B
attends his training on Saturday but
not with A. The Training of
Managerial Training is schedule on
Thursday. Student G and S attended
training on Public relation Training
but one of the day after Thursday.
Employee M attends the training on
Quality Training but not after
Wednesday. There is a gap of one day
between the training of Team
Training and Skills Training which is
attended by P but not on Monday.
Student N attends his training on
Friday. Training on Quality Training
is not scheduled on Monday. A
attends his training with only D. C
does not attend his training with B.
Student O does not attend the
training on Safety Training. E attends
his training with M.
11. On which Day Team Training

was scheduled?

a) Monday b) Tuesday 
c) Thursday d) Friday 
e) Wednesday

12. P attends his training on which day?
a) Monday b) Friday 
c) Saturday d) Sunday 
e) Tuesday

13. Who among the following
employees attends the training
on Safety Training?
a) A and D b) B and C 
c) B and Q d) C and O 
e) R and A

14. C attends the training of which
subject?
a) Team Training
b) Managerial Training 
c) Public relation Training
d) None of these 
e) Skills Training

15. On which of the following day
the training on Soft Skills
Training is scheduled?
a) Sunday b) Tuesday 
c) Monday d) Friday 
e) Saturday
Directions (Q.No.16-20): Read

the conclusions and then decide
which of the given conclusions
logically fo llows from the given
statements, disregarding commonly
known facts.

a) If only conclusion I follows 
b) If only conclusion II follows 
c) If either conclusion I or II

follows 
d) If neither conclusion I nor II

follows 
e) If both conclusion I and II

follow 
16. Statements: 

Only a few Pen are Mats 
All Cat are Mats 
Conclusions: 
I. All Pen Can Never be Cat.
II. At least Some Cats are Pen.

17. Statements: 
All Wall are Stick 
No Wall is a Dust
Conclusions: 
I. No stick is a Dust.
I. Some Stick are Dust.

18. Statements: 
Only a few Apple are Orange
No Orange is Green
Conclusions: 
I. Some Apple are definitely not

Green
II. All Apple can never be Orange

19. Statements: 
Only a few Red are Green
All Green are Pens 
Conclusions: 
I. Some Red are Pens 
II. All Pen can never be Red

20. Statements: 
Only a few Car are Bus. 
Some box are Car
No dot is a Bus. 
Conclusions:
I. At least some Car are dots. 
II. All Bus being box is a

possibility.
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How many symbols are present in the...

KEY WITH SOLUTIONS
(1-5)

1. b;
2. e;
3. c;
4. e;
5. d;

(6-7)
WORD CODE
Take ka
we no
Money ve
For di
You se
wild la
Good ba
To ot

6. c; 7. e;
(8-10)

8. b; 9. c; 10. b
(11-15)

11. e; 12. b; 13. c; 14. b;
15. c

Day Training Employees
1 2

Monday Soft Skills Training D A
Tuesday Quality Training M E
Wednesday Team Training R F
Thursday Managerial Training O C
Friday Skills Training N P
Saturday Safety Training B Q
Sunday Public relation Training G S

(16-20)
16. a;

17. c;

18. e;

19. a;

20. b;
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Vihaan

(Canada)
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Sai

(France)

Arjun 

(United Kingdom)
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Cat
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X

Apple
Orange Green

Red Green
Pens

X

XX Dot
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Box

X

X Dust
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